HmA MHa—F N—a—FK | =A== | RAEYLA BE rota
SERERR G-PZ15 7L mL — 100K L

SERERZ-A G-PZ11 7L 7L — 1A A X 100 BUVER
SERERZF-B G-PZ12 L Tl — 28 A x50
SERERZRTP-A G-PZ31 7L " = 1A A x 100
SIRERZTP-B G-PZ32 L ] - 2K A % 50
SEHERHTP-A (i—a—FkH) G-PZz41 =] ] — 1A A x 100
SIRERSR SIEERBTP-B (\—a—Ffh) G-Pz42 A A — 2 A X 50
SERERHF-A G-PZ51 B %L — 1A A x 100
SIRERZ-B G-PZ52 7L L — 2K A % 50
SIRERIFIRTP-A G-PZ55 L < — 1A A % 100
SIEERZRTP-B G-PZ56 L < — 2R A X 50
SEERHTP-A (A—a—FkH) G-PZ57 A =] — 1A A X100
SEEEARBTP-B (/\—a—Kf) G-PZ58 A < — 2 A X 50




